H £ 0l & AFHSH & Ml A

EMEST
el olZ20] XV (Z20IIZSH 5 H) (i) 79)
SA - B . B(30) - HSAIY - BAS Ol &k e HimE==T
SXE Mt 2,680,738 2,653,674 27,064
= 275,920
T 48,286
Al 2,356,532
=0 | =M S E 2,618,738 2,593,674 25,064
= 275,920
& 48,286
Al 2,294,532
o230 XA (AZS0IISELSA) 2,618,738 2,593,674 25,064
= 275,920
= 48,286
Al 2,294,532
zadad 2 3,444 3,468 AN24
308 XX ASOIH 3,444 3,468 AN24
07 RXIEH 2R E = 3,444 3,468 NP4
ORTOITY 24T
3,444,000 3,444
olgzgs=4 Azl Y HAMEF AL 2,270,3% 2,284,806 A14,412
308 XHXIEHMSOIH 2,270,3% 2,284,806 A14,412
07 XIXIEHHZ2HRE S 2,270,344 2,284,806 A14,412
OoRZO42AN IEH| L AVMEKT
]l 2,270,39%4,000& 2,270,3%
230 AXHMBEARE(2AZS0AY S$HEHIXIR) 9,900 9,700 200
= 7,920
= 1,386
Al 5%4
201 et AL 7,900 8,300 A400
= 6,320
T 1,106
Al 474
01 Ar22teltl 7,400 7,800 2400
OABTOIAY S2H| L AIREE 2
,400,000& 7,400
= 5,920
= 1,036
Al 444
03 A2 500 500 0
O2z20=3k us ¢ 2He3)
500,000& 500
= 400
= 70
Al 30
202 o4t 1,500 1,000 500
= 1,200




2N

M 20| EMBLIE
SR: 2230 XA (AZSHIISSLEIA) (S H )
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
o~ 210
Al N
01 =W0dH| 1,500 1,000 500
O2RZ0! AElZ2l S oitl
1,500,000& 1,500
= 1,200
& 210
Al 0
301 LBetENMZ 500 400 100
= 400
= 70
Al 30
14 JIEt2 43 500 400 100
QR0 $HHT ADTAI
500,000& 500
= 400
= 70
Al 30
230 AXHHMBMAEE(=zS0H= A 2ARES 318,700 295,700 23,000
X&)
= 254,960
= 44,618
Al 19,122
301 et 318,700 295,700 23,000
= 254,960
= 44,618
Al 19,122
01 ASIBEA4HZ2(2LEEZA) 318,700 295,700 23,000
Ofzstsait 222E3 XA (4,509)
318,700,000 318,700
= 254,960
& 44,618
Al 19,122
OI230 AXIHMIMEX(IIF 22 0AIE) 16,300 0 16,300
= 13,040
& 2,282
Al 978
301 et 16,300 0 16,300
= 13,040
T 2,282
Al 978
01 ASI2EHHZ([LEETHRA) 16,300 0 16,300
OMIt 2= ¢HAIY 16,300,000& 16,300
= 13,040




A =SXEBY
HE: 200 E4

¢elr =230 X (A=2200I3SE3H)

SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
S 2,282
Al 978
HRES(SXNFH) 40,000 40,000 0
SHIE(S)(A=S0HIISSEA) 40,000 40,000 0
SCHIBES(2S) 40,000 40,000 0
802 grat=JIE 40,000 40,000 0
03 JIEtEtEI 2SS 40,000 40,000 0
OXNHEE 22501 AIY 24 oIS
40,000,000& 40,000
M2t 22,000 20,000 2,000
oigidl (e 2=20HIISSE3) 22,000 20,000 2,000
MBI (AE=HIIZEEEIA) 22,000 20,000 2,000
801 OfibIH 22,000 20,000 2,000
01 etolglsl 22,000 20,000 2,000
Oodil 22,000,000& 22,000




